Complete the following ANOVA table with
H₀: μA = μB= μC = μD= μE= μF
An incomplete ANOVA table is shown below:
	Source Treatment
	SS
100
	df
A.
	MS
B.
	F Statistic
F.

	Error
	C
	D
	E
	

	Total
	240
	40
	
	



Complete the table with the correct numerical value.
(i) A._____________________________________
(ii) B._____________________________________
(iii) C._____________________________________
(iv) D._____________________________________
(v) E._____________________________________
(vi) F._____________________________________
